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func myFunc(a int, args ...int)
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package main

import "fmt"

func main() {
x:= Min(1, 3, 2, 0)
fmt.Printf("The minimum is: %d\n", x)

arr ;= []int{7, 9, 3, 5, 1}
x = Min(arr...)
fmt.Printf("The minimum in the arr is: %d", x)

}

func Min(a ...int) int {
if len(a) == 0 {
return O

}

min := a[0]
for ,v:=range a{
if v < min {
min = v
}
}

return min

}
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The minimum is: 0
The minimum in the arr is: 1
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func typeCheck(values ...interfacef}) {
for _, value := range values {
switch v := value.(type) {
case int:
/] ...
case string:

// ..
case bool:
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/] ...

default:
// ...
}
}
}
defer fIiEER
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Z1 defer iERIAINITIRRE

package main

import (
"fmt"

)

func main() {
fmt.PrintIn("defer begin")
// ¥ defer BIAIEIREFE%
defer fmt.Printin(1)
defer fmt.PrintIn(2)
/] &=E— N, fMFHRIR, &=5TAB
defer fmt.Printin(3)
fmt.Printin("defer end")

}
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defer begin

defer end
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(M defer iERIENEIR

EF defer FA&f#H
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valueByKey = make(maplstring]int)
// FRIHERFHFHF AL S8 /81
valueByKeyGuard sync.Mutex

)

// TRAEREEEE

func readValue(key string) int {
/] SIHZ=EIRINH
valueByKeyGuard.Lock()

// BYE

v := valueByKey[key]

/] SRR RRE)
valueByKeyGuard.Unlock()
// IR[ENE

return v

}
BILAER defer 33 EAMCREHITH

var (
valueByKey = make(mapl[string]int)
valueByKeyGuard sync.Mutex

)

// 1RIESEEEE

func readValue(key string) int {
valueByKeyGuard.Lock()

// defer FEANEGAEE LER, MEEREREEE R AR
defer valueByKeyGuard.Unlock()

return valueByKey[key]
}

{8 defer BEHOHDE
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func fileSize(filename string) int64 {

[/ HRIESU BT, IREBIS RIS IR
f, err := 0s.0pen(filename)
// NRFIFRT R AR, REISEFA/NS 0
if err I= nil {
return 0

}
/] BOUHIRSER
info, err := f.Stat()

/f/ QD%X%HIIE%\HWQE%% RAAFFHREISHKND O
if err = nil {

f.Close()

return 0

}
/] BRUSTHRIN
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size := info.Size()

/] RIASU
f.Close()

// RBISAERN

return size

}
BJLAR defer AT #ITEL :

func fileSize(filename string) int64 {
f, err := 0s.0pen(filename)
if err = nil {
return 0

}

// FEREAHA Close, ItbAt Close A&#iE
defer f.Close()

info, err := f.Stat()
if err I=nil {
// defer lFft%, VAR Close XIAS{4

return O

}

size := info.Size()

// defer HlHlftA, VR Close XA 14

return size

}
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package main

import (
“fmt"
)

func main() {
callback(1, Add)

}

func Add(a, b int) {
fmt.Printf("The sum of %d and %d is: %d\n", a, b, a+b)
}

func callback(y int, f func(int, int)) {
f(y, 2) // this becomes Add(1, 2)
}
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The sumof 1 and 2 is; 3
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1,1,2,3,5,8,13, 21, 34,55, 89, 144, 233, 377, 610, 987, 1597, 2584, 4181, 6765, 10946, ...
1A Go iIE=kLMizEE:

package main

import "fmt"

func fibonacci(n int) int {
ifn<=2{
return 1
}

return fibonacci(n-1) + fibonacci(n-2)

}

func main() {
fori:=0;i<=10;i++ {
fmt.Printf("fibonacci(%d) is: %d\n", i, fibonacci(i))
}
}

EAMEBIEITER S

fibonacci(1) is: 1
fibonacci(2) is: 1
fibonacci(3) is: 2
fibonacci(4) is: 3
fibonacci(b) is: 5
fibonacci(6) is: 8
fibonacci(7) is: 13

fibonacci(8) is: 21

fibonacci(9) is: 34

fibonacci(10) is: 55

i)
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func (BE51R) (REIZE5IFR){
BREGR
}
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package main
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import "fmt"

func main() {
: f()

func () {

g := func(iint) {// BIR—MERRY, FIRELEE g
fmt.Printf("%d ", i)

}

fori:=0;i< 4 i++ {
g(i) // FEHFRER RE
fmt.Printf(" - g is of type %T and has value %v\n", g, g)

}
}

ERAREITER:

0 - gis of type func(int) and has value 0x1056b20
1 - gis of type func(int) and has value 0x1056b20
2 - gis of type func(int) and has value 0x1056b20
3 - gis of type func(int) and has value 0x1056b20

B LA ERGIBATTLAT #3280 BISRELRE funclint), BRYERAFHELL,
DAEBRNRE Add2() 70 Adder(), BATERREIZEELS funcb int) int BIERE:

func Add2() (func(b int) int)
func Adder(a int) (func(b int) int)

Add2() MERZSEL, T Adder Bl—1 Int ZBIR924,
A B DR B

package main

import "fmt"

func main() {
// make an Add2 function, give it a name p2, and call it:
p2 := Add2()
fmt.Printf("Call Add2 for 3 gives: %v\n", p2(3))
// make a special Adder function, a gets value 3:
TwoAdder := Adder(2)
fmt.Printf("The result is: %v\n", TwoAdder(3))

}

func Add2() func(b int) int {
return func(b int) int {
returnb + 2

}
}

func Adder(a int) func(b int) int {
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return func(b int) int {
returna + b

}
}

ERAREITER:

Call Add2 for 3 gives: 5
The resultis: 5
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package main
import "fmt"

func main() {
var f = Adder()
fmt.Print(f(1), " - ")
fmt.Print(f(20), " - ")
fmt.Print(f(300))

}

func Adder() func(int) int {
var X int
return func(delta int) int {
X += delta
return x
}
}
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package main

import "fmt"

func main() {
f1 := Adder()
f2 := Adder()
fmt.Print(f1(1), " - ")
fmt.Print(f1(20), " - ")
fmt.Print(f1(300), "\n")

fmt.Print(f2(1), " - ")
fmt.Print(f2(10), " - ")
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fmt.Print(f2(100))

}
func Adder() func(int) int {
var x int
return func(delta int) int {
X += delta
return x
}
}
LIRBIEITER A
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1-11-111
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